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Express the plane stress and

j,

assu4ilm$hs. (10 Marks)
by Ganissian elimination method :

relation with
equation

sa**it

oRT
Mdmine

*{o" n

(10 Marks)

the nodal displacement using principle of

*,**
,so* * (10 Marks)

defl@ ofthe beam fixed at both
ov@€ entire length as shown in

b. Using Rayleigh-Rffzfrrethod determine
ends subjected@ uniformly disffi
Fig. Q2 (b) W 
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with boundary

(10 Marks)

(10 Marks)

(10 Marks)

list the application of FEM.
approximate solution of differential equation,
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4 a. Derive the sh4pffiction for lD bar element in natural co-ordinate system. (10 Marks)

b. Explain the dffidnt types of Interpolation models in which brief about the polynomial form
for lD, 2,,,p and 3D element
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a. For the spripg;}ffivn in Fig. Q2 (a).
minimum pptcfltial energy.slq, q
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(10 Marks)



5 a. Consider the bar shown in Fig.QS (a), using Penality IMod of handling boundaryConsider lhe bar shown in Fig.Qs (a), using Penality ffi$od olhandltng, toundary

condition- Determinelthe nodal [isptu""*"nt stress in eaffiHment. Due to appliedrforce
p = ibo tN, Take steet E : 200 GPa copper Ecv j l0ffiW ;

Derive shappfunction
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l Quadrilateral / rectangular element.
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Explain the properties of shape function.
Explain thb following with neat diagran5

(r) Iso-parametric element.
(ir) Sub-parametricelement.:
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9 a. For the beam element shown in FiglQp
E = 2xlosKN/m2 and I = + * rof4p'

di.p

deflection
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determine
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function
(10 Marks)
(10 Marks)

Fin as shown in Fig. QlO (a). Take two elements for

b. Derive e

10 a. Find
FEi
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b. hedt distribution in shown in 10 (b). Take
The heat tlre fin is 10

is28"C. is at 108oC. K= 50 W/mK
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two elements for FE
Wm2K and ambient
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